MAIRCY

SMITH MACHINE
SM-4033

- p L *9

IMPORTANT: Please read the Important Safety Notice and Assembly Information in
the Owner’s manual before assembling this product.

Assembly Manual
200414




©PURETEC LIMITED 1 www.puretecfitness.com



(56 4 GDX 26
58% 12 59x 3
- iy g T
60X 26 6Dx1
—m=  —wm
62x1 63%6
3 T £ iy 6
64% 29 65% 4 668
67)%6 68% 26 69x 98 70X 144
m m am D
TDx4 2% 2 T3)x 46 T4x 72
;w'|'|fm'|'1“|“w|‘l'|'Iflw-'\'\'m'|'J'[fm'|‘|‘|'wr|-'|'wfm'\'i'['m'"|‘M'J|"|'|'FM'|'7‘w-w\"'|'|f1'l'|_‘|www|

©PURETEC LIMITED

2 www.puretecfitness.com



JULLIILIT 0D

mm

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22

l|||I|||I|I|L|I‘Ill|||I|||I|Ill‘|\Ill|I|I|I|I|I‘I|I|I|I|||I|l|||||l|||I|||||I||‘I|I|I|I‘I|||I]I‘IlIllll‘lll|\ll‘I|l||II‘I|I|I||‘I‘I|I|I‘I|I|
0 1" 2" 3" 4" 5" 6" 7" 8"

©PURETEC LIMITED 3 www.puretecfitness.com



www.puretecfitness.com

©PURETEC LIMITED



\\\\\\\\@\

RTINS Y
BT

DHHUHHUHD

www.puretecfitness.com

©PURETEC LIMITED



@

(22 x 2 129X 2 (2% 2 (25X 10 126X 2 (29X 1

©PURETEC LIMITED 6 www.puretecfitness.com



www.puretecfitness.com

©PURETEC LIMITED



w6 M12X 3%

© 6 017

©PURETEC LIMITED 8 www.puretecfitness.com



T 4 M12X 47

8 @ 1//
1 M12

©PURETEC LIMITED 9 www.puretecfitness.com



@©) 6 01

T 6 M12

©PURETEC LIMITED 10 www.puretecfitness.com



M12X 47

@ 1//
M12

©PURETEC LIMITED

11

www.puretecfitness.com



A 6 MI2X 3”7

12 @ 1”
6 M12

©PURETEC LIMITED 12 www.puretecfitness.com



@ ®m 2 MX Y

[ﬂ

48 Allen Wrench(Tool)

4# Allen Wrench(Tool)

©PURETEC LIMITED 13 www.puretecfitness.com



0 mm 4 MI2X 4
69 T mmm 4 MI2X 3}
m 2 M8x ¥

@@
©

©PURETEC LIMITED 14 www.puretecfitness.com



MI2X 4”7

01"
M12

©PURETEC LIMITED

15

www.puretecfitness.com



@ 1/[

20

8

Y @ D 10 M2

M12X 3

69 I wmm 2

16 www.puretecfitness.com

©PURETEC LIMITED



N
—
&)

17 www.puretecfitness.com

©PURETEC LIMITED



18 www.puretecfitness.com

©PURETEC LIMITED



M10X2 3~

™

M10

@ o

4 MIOX2 &7

19 www.puretecfitness.com

©PURETEC LIMITED



@ @

Mlo X%Il

™

&
o=

i W
..-.I..o-..].b‘ll..l == ”||.|I|l|ﬂl i

<}
s

v

www.puretecfitness.com

20

©PURETEC LIMITED



M12x 37
@ 1//
MI12

12
28
14

W

@ ®

L
ﬂ:///ffh@«w

o= A

)
S =

aaaaaaaaa

www.puretecfitness.com

21

©PURETEC LIMITED



38/68 Allen Wrench(Tool)

29 www.puretecfitness.com

©PURETEC LIMITED



23 www.puretecfitness.com

©PURETEC LIMITED



©PURETEC LIMITED 24 www.puretecfitness.com



M10

1
2
6

@ @ ®

www.puretecfitness.com

25

©PURETEC LIMITED



M10X 2"

M10X1 &7

@ o

6 M10

1327

©PURETEC LIMITED

26

www.puretecfitness.com



©PURETEC LIMITED 27 www.puretecfitness.com



Continue assembly from last slep

©PURETEC LIMITED 28 www.puretecfitness.com



©PURETEC LIMITED 29 www.puretecfitness.com



Cross Cable Routing Diagram

©PURETEC LIMITED 30 www.puretecfitness.com



1

@ 1//

M12

www.puretecfitness.com

31

©PURETEC LIMITED



-1.-
e
ey
2 \

o TP e

S O o g

Bl [
=7 oLi®
] =t & W

= X
/

/
7

)

=5

©PURETEC LIMITED 32 www.puretecfitness.com



33 www.puretecfitness.com

©PURETEC LIMITED



1
2

M8 X2

6

—— =

58 Allen Wrench(Tool)

34 www.puretecfitness.com

©PURETEC LIMITED



() =) 1 C hooks

1 Chain

©PURETEC LIMITED 35 www.puretecfitness.com



C hooks

2

36 www.puretecfitness.com

©PURETEC LIMITED



9 MIOX2 37

M10

©PURETEC LIMITED 37 www.puretecfitness.com



Mox 3 2

4

W | G

"

M10

©PURETEC LIMITED

38

www.puretecfitness.com



1 M12X 6”7

i)

017
M12

© 0

www.puretecfitness.com

39

©PURETEC LIMITED



i mm 1 MI2X 6 7
[ i 1 MI2X 67
©) 4 01 D 2 M12

©PURETEC LIMITED 40 www.puretecfitness.com



©PURETEC LIMITED 41 www.puretecfitness.com



(o]
ool
3

©PURETEC LIMITED 492 www.puretecfitness.com



©PURETEC LIMITED 43 www.puretecfitness.com



©PURETEC LIMITED 44 www.puretecfitness.com



MAIRCY

PURE-TEC LIMITED
www.puretecfitness.com
Email: service@puretecfitness.com

©PURETEC LIMITED 45 www.puretecfitness.com




	IMPORTANT: Please read the Important Safety Notice



